| dE/dx estimator 1 |

| dE/dx estimator 2 |

0.2r Entries 20 C Entries 20
L = : : : i | Mean 2.212 0.2 trmmemrieees R RCETE! SERPEPY PPN Mean 2.375
0.18 o S e te.....l...[ Std Dev 1.093 - = Std Dev 0.9387
TF S 0,18+ tremrebemeb et L]
0165 Entries 21 C Entries 21
' C i Mean 2.161 0.16 :_ ........................................... Mean 2.327
0 14 o Std Dev 1.092 C Std Dev 0.9406
o S R I L o F | C e Pee.... |
0.12 r Entries 21 0'14: Entries 21
. - Mean 2.161 U UUSURTE N | T ST S Mean 2.327
r Std Dev 1.092 012 C Std Dev 0.9406
0.1~ R RN SRR TRt | - P ]
- Entries 21 01: Entries 21
008_ Mean 2.161 = | B A R Mean 2.327
r Std Dev 1.092 008- Std Dev 0.9406
0.06_— """"""""""" 0.06F || fmed bbb,
0.04F 1ttt it R 0.04F -+ H -
0.02f 1|1t R 0.02f i b oo e
OJ"\'O_ 1 |||||i||||i||||i||||i||||i|||| OJ--\'O_ |. |. [l | i||||i||||i||||i||||i||||i||||
= i : = i :
© r © r
o B o N
1__.. .................................................... 1__ ................................................
0.95

1 2 3 4 5 6 7 8 910
dE/dx, trunc40

0 1 2 3 4 5 6 7 8 9 10
dE/dx, harm?2

—=— DQM_TT_mKFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_original-127
—— DQM_TT__mkFit-DQM_mod-127

o

o
=

—— DQM_TT__mkFit-DQM_mod_updated-127
- T T T T [ CTiures ZU U. I CTITeS 20
0.3Fp-i Beereens EEEEREES [ERERPEPE +-[ Mean 5.35 Mean 0.25
E : : : : i | Std Dev 3.119 0 8: ____________________________________________ Std Dev 0.6225
‘ Entries 21 R : : : : : | Entries 21
025__ Mean 5.333 OB L SR LRI SEEELRR N [ VT 0.2381
3 Std Dev 3.045 5 Std Dev 0.6098
| A . G S e e Rt ER— J
0.2 -5~ SRRERERLE FRERLETEE FRREEREE *-| Entries 21 i Entries 21
i : : : : i | Mean 5.333 : : : : : i | Mean 0.2381
- Std Dev 3.045 05 ittt Std Dev 0.6098
015 Entries 21 04 ............................................ Entries 21
Mean 5.333 g Mean 0.2381
Std Dev 3.045 Std Dev 0.6098
; 03 ----------------------------------------------------------------------

......................................................................

...........................................................

0.05

......................................................................

r
[2)
1) ) I I e = o e s Ll ) (R W I B R
F
o
[>)
T

Ratio
Ratio

=
T
=

. e e il 3

09501620 30 40 50 60 70 80

dE/dx number of measurements with saturation

0.95%

10 20 30 40 50 60 70 80
dE/dx number of measurements

o



	Contents
	Page 1


